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GUJARAT TECHNOLOGICAL UNIVERSITY

Diploma Engineering Sem. - IV - Examination — June- 2011
Subject code: 342901
Subject Name: Yarn Manufacturing Technology-11
Date:04/06/2011 Time: 02:30 pm — 05:00 pm
Total Marks: 70
Instructions:
1. Attempt all questions.
2. Make suitable assumptions wherever necessary.
3. Figures to the right indicate full marks.
4. English version is Authentic.

Q.1 (a) Explain the modern developments in comber machine. 07
(b) Draw a sketch showing passage of material in ring frame machine & 07
explain briefly.
Q.2
(@) Explain principle of twisting and winding in speed frame machine. 07
(b) Draw a sketch showing passage of material in comber machine & 07
label the parts name.
OR
(b)  Explain the cycle of operation in comber machine with neat sketch. 07
Q.3
(a) Explain bobbin building mechanisms in speed frame machine. 08
(b)  Explain piecing and detaching operation in comber machine. 06
OR
Q.3 (a) Explain cop building mechanisms in ring frmae machine. 08
(b)  Explain any one pendulum arm drafting system in ring frame m/c. 06
Q4
(a) State the objects of doubling & explain any one threading system. 08
(b)  Give definition of fancy yarn & explain the production of flake yarn. 06
OR
Q.4 (a) Explain willow waste opener with neat sketch. 08
(b)  Give definition of double yarn & find out the resultant count of 3 06
fold yarn made up of 40S, 34S & 268 singles.
Q.5
(a) Calculate production of ring frame machine in kgs & Gms/spl/shift 07
from the following data.
(1) Spindle speed = 20000 rpm (4) No of spindle = 1200
(2) Count of yarn (NE) = 40S (5) Efficiency = 94%
(3) Twist multiplier = 4.0 (6) Working time = 8 hrs
(b) Calculate production of speed frame machine in kgs & Lbs fromthe 07
following data.
(1) Spindle speed = 950 rpm (4) No of spindle = 120
(2) Hank of roving (NE) = 1.0 (5) Efficiency = 84%
(3) Twist per inch=1.20 (6) Working time = 8 hrs
OR
Q.5 (a) State the objects of ring frame & speed frame machine. 07
(b)  Explain factors to be considered for the selection of traveller. 07
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